CMS, 13 TeV, Ungroomed jet mass m;, (200 < pr < 260 GeV)

= : T T T ‘ T T T ‘ T T T ‘ T T T ‘ T T T ‘ T T T ‘ :
s

§§0.025 - —<¢— Data ]

= C —— Pythia 8 ]

U [ —

~= 0.02 — —— — Pythia 8 (vincia) —]

Y - |

= - — Sherpa 2 (cluster) ]

001 = | Sherpa 2 (lund) :

o = | —— Herwig AO =

F====" — — — Herwig DS .

O e s | —

ooo5 [ — | } —

e P e B L s

1.4 - r —

13 _____. —

% 1.2 = | ——— —=

E —

Q 1.} % I . f

U 09 =1 E

> 08 e==t=== 3

0.7 —

39 | | | | 3

0_5 | | | | | | | | | | | | | | | | | | L 3

20 40 60 80 100 120 140



